





A B/A" C/B" (%)

3,880 |20 30 | 994 | 1,087 | 1,087 | 1.09 927 85.3
440 50 | 220 263 263 | 1.20 213 81.0
880 |40 50 | 432 353 353 | 0.82 323 91.5
480 50 | 240 317 317 | 1.32 231 72.9
160 |35 40 60 85 85 | 1.42 50 58.8
40 75 30 52 52 | 1.73 30 57.7

40 75 30 52 52 | 1.73 30 57.7

40 50 20 26 26 | 1.30 20 76.9

80 50 40 30 30 | 0.75 30 | 100.0
2,160 1,072 | 1,178 [ 1,178 | 1.10 927 78.7
1,080 [30 40 | 416 431 431 | 1.04 400 92.8
7,120 2,482 | 2,696 | 2,696 | 1.09 | 2,254 83.6
3,240 [20 30 | 892 | 3,434 [ 3,434 | 3.85 892 26.0
80 50 40 79 79 | 1.98 40 50.6

40 50 20 44 44 | 2.20 20 45.5
120 60 123 123 | 2.05 60 48.8
3,360 952 | 3,557 | 3,557 | 3.74 952 26.8
10,480 3,434 | 6,253 [ 6,253 | 1.82 | 3,206 51.3
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1.11 1.11
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A | 10,760 | 7,240] 440[1,000] 520] 160] 80| 40| 40| 40| 40| 80[1,080
2,482 994] 220| 432[ 240] 60| — | 30]— | 30| 20[ 40| 416
B 2,696 | 1,087| 263 353| 317] 85| —| 52| —| 52| 26| 30| 431
C 2,254 927| 213| 323| 231| 50| —| 30|—| 30| 20| 30| 400
c/B| 83.6 85.3]81.0] 91.5|72.9]58.8] — [57.7] — [57.7[76.9] 100] 92.8
952 892 — [ — [ —]—1 4]—] 20| —|—[]—|—
D 3,557 | 3,434 — | — | —|—1] 79| —| #| —]—|—]—
E 952 892| — | — | —|—| 40|—| 20| —|—|—|—
E/D| 26.8 26.0] — | — | —[]—150.6] —[45.5] — | — | — | —
A-(C+E)| 7,554 | 5,421| 227| 677| 289| 110| 40| 10| 20| 10| 20| 50| 680
8,430 | *5,114| 257| 686] 310] 131] **| x| 23] **[ 20| 55| 743
F |# 8,410 | *5,000] 257 684| 310] 131| **| =*=| 23] =*| 20| 55| 741
G 7,442 | 5,381 223| 621| 277| 110| 40| 10| 20| 10| 20| 50| 680
G/F| 88.5 ~*x(86_8| 90.8(89.4[84.0| ***| *+==[g7.0| ***| 100[90.9] 91.8
A-(C+E)-G 112 40| 4| 56| 12| —|—|—|—|—|—|—|—
123 61| 11| 43| s|l—|—|—[—|—]—]|—|—
H 121 6o| 11| 42| 8|—|—|—]—|—]—]|—|—
I 89 36| 4] 41| 8|—|—|—|—|—|—|—|—
I/H]  73.6 60.0/36.4] 97.6] 100 — | — | — | — | — | —|—]—
10,737 | 7,236] 440] 985| 516] 160] 80| 40| 40| 40| 40| 80[1,080
J | 10,733 | 7,233] 440] 985| 515] 160] 80| 40| 40| 40| 40| s0[1,080
J- -27 -7 o] -15] -5/ o/ o/ o/ o o| o o 0
99.7 99.9] 100] 98.5[99.0] 100] 100| 100| 100| 100| 100| 100| 100
99.1 99.6] 100] 95.6/96.2[99.4] 100] 100[92.5] 100] 100[98.8] 100
#
*
A-(C+E) 420 40 256 10] 150 10
573 351 167
D 573 351 166
E 420 40 256 10| 150 10




A B/AC%) c )

4,595 5,124 366 7.1 | 5,114 386 7.7
227 263 30 11.4 257 30 11.0
677 665 62 9.3 686 28 5.2
289 317 37 11.7 310 25 9.6
110 140 13 9.3 131 10 8.1
20 25 2 8.0 23 0 0.0

20 16 0 0.0 20 1 5.9

50 40 2 5.0 55 1 3.4
680 745 52 7.0 743 78 9.6
460 590 29 4.9 573 40 6.3
266 394 57 14.5 351 21 7.1
160 173 17 9.8 167 11 7.4
7,554 8,492 667 7.9 | 8,430 631 7.7
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